Chapter-13: Finite Series 277. If the 1™ term of a geometric series is

269. In the sequence 2, 4, 6, ...... which 2 and common ratio |51 What will be

une]is the common term? the 4% term?

16 4

© 2n @i 3; 3 ® 278. Which one is the common terms of
270. In the sequence 5, 3,3 gﬂ;:_“ 8+ Iﬁt@ 2”*"!

which one is the common term? © 8! @ 8! 0

-1
% ® :_t, l 279, Which one is the 8" term of the
@EIE @ il [d) SEI'IES‘V,——I'*"\IE—-
n

271. Which one is the n™ term of -16E®-8 ©8 @ 32 b

arithn]f:tic series? Answer to the question no. (280 — 281) on the

@ ar" basis of according to the information:

®atn-I1d The 1* term of a arithmetic series is 2 and

© 5n=% {2a+ (n-1)d} commeon difference is 3.

280. What is the n"™ term of the series?
_al-r) ‘

@ sn="7_, ® ® 3n+1 (J"!3n+u
272, Which term of the series 6 + 9 + 12 i = 1

i 93? ©3n- | @ el &

@ 27 ® 28 2

® 29 @ 30 ® 281 ::hat is tge sum of the 1™ 8 terms of

- 9 e series’

273, 1 +2+3+4+...... + 100 = what? 23 ® 25

@ 4750 @ 4950

® 5050 @ 5150 o © 100 @ 124 ®
] D ety LT Ry ¢ = [ | L Answer to the gquestion no. (282 — 283)

what? on the basis of following information:

@ 55 ® 110 log3+log9+log 27+ ...

© 385 @ 3025 LcJ 282. Which one is the common
275. Which one is the summation of difference of the series?

cubes of the first n number of log 3 ® log 9

natural n;.tmhersz? © 2log3 @ 3log 3 (0]

SI_J_"J%'L 283. Which one is the 10" term of the

series?
® s, Lot log 1000  ® log 9000
n 8 © log 72900 @ log 59049 ()

nn+1)(2n+1)

© S,= Answer to the question no. (284 — 286)
6 according to the information:
@ Sn=2{23+{n—l}d} 1) 2+ 5+ 8+ 11... observe the series.

276. If 3 + a + b + 81 is in geometric 284. What is the difference of series?
series, what is the value of b? @-3 ®3 ©5 @7 b
@9 ®12 @18 @27 @ 285, What is the 10™ terms of series?

@29 ®31 ©35 @37 O
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286. What is the summation of 1* 8 364 1093 _ 3280 _ 6560 o

terms? 243 ® 720 © 3787 @ G561

200 @ 124 © 100 @ 92 ® 291. How many symmetrical lines in a
Answer to the question no. (287 — 288) equilateral triangle has?
according to the information: @1 ®2 ©3 @4 ®
F+E6+ 840 292, Same as 2917

@1 ®2 ©3 @4 L

287. The 12™ terms of series is—
293. A fan with three wings. What is the
@22 @24 ©26 @28 ° angle of rotating?

. 5 -
288, :;fti;lnet;jrli:fummnhun of 1¥ 10 terms ® 60° ®90° © 108° @ 120° @

@ 130 ® 150 © 260 @ 300 0 294, Which one has many symmetrical

lines?

Answer to the question no (289 — 290) In circle In square
according to the above series. © Intriangle @ In rectangle L)
1.1 295, In the figure BC || DE. Which one is

I+g3tgt e correct?
289, Which one is the 7™ term of the
series? AB:BC=AD:DE 5
L A E . o ® AD:DB = AE :EC
@75 ©33 @1 ©-3 O © BC:DE=AD:AEp "
290. Which one is the summation of 1™ @ AD:DE = AE :CD 0
8 terms?
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